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��� C�� ABCA′B′C′ � ����"� ������������� �������� 0� ���� AB = 10 cm ��
AA′ = 5

√
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��� �- �����#� ��� 
��� ��"����� ����� x, y �� ������������ �� |x − y| ≤ 1

n
������ ����� n ∈ N∗� ������ x = y.

�- �����#� ��� 
��� ��"����� ����� a, b, c, d �� ������������ �� [na] + [nb] =
[nc] + [nd]� ������ ����� n ∈ N∗� ������ a+ b = c+ d.
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3(a · −→AG+ b · −−→BG+ c · −−→CG) = (a+ b+ c) · (−→IA+
−→
IB +

−→
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�- z · z̄ + 3(z − z̄) = 13 + 18i= �- z2 − 2z̄ + 1 = 0= �- |z| =
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z
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��� C�� z1, z2, z3 ∈ C � �� |zk| = 1, k ∈ {1, 2, 3} �� z1 + z2 + z3 �= 0� �����#�
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z1 + z2 + z3

∣∣∣ = 1.

��� C�� a, b, c ∈ R �� ε ∈ C � ����#�� � ����#��� z2 + z + 1 = 0�
�- �����#� �� a3 + b3 = (a+ b)(a+ bε)(a+ bε2)�
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��� /����"���#� 	������� ����"������� ���� ����� m ������ ���� ����#�� z3 −
i(z2 − 1)−mz = 0 ��� ��� ��#�� � ����#�� ������
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∣∣∣∣∣∣
a2 + n ab ac
ab b2 + n bc
ac bc c2 + n

∣∣∣∣∣∣ ����

�	�3���� �� n2.
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∣∣∣∣∣∣
a2 − x ab ac
ab b2 − x bc
ac bc c2 − x

∣∣∣∣∣∣ = 0� ��
� a, b, c ∈ R.

��� �- C�� A,B ∈ M2(R), ������ 0��!� AB = BA�
�����#� �� det(A2 +B2) ≥ 0.

�- /��� A ∈ M2(R)� �����#� �� det(I2 −A+A2) ≥ 0.

� � C�� �������� A(2x, 0)� B(0, 2y)� M(x + y, x + y)� ��
� x > 0� y > 0�
x �= y�

�- �����#� �� ������� M ����#��� �������� �����"����� ������������ AOB�
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�"��'
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�!� C�� (an)n≥1 �� ��� 
� ��"��� ����� ������ ���� a1 = 1 �� an+1 = ln(1 +
an), ∀n ≥ 1.
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n→∞

(
a+
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= e2.

�#� C�� (an)n≥1�� ��� 
� ��"��� ����� ������ ���� �$���� lim
n→∞ [(n+1)an+1−

nan] = l � ��
� l ∈ R. �����#� �� lim
n→∞ an = l.
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